mIlT FKEFABRERK(2MH) (~SH5F3A31H) CHBEL 8 %)

bPREERKE] # & [LkEEAKE] B @ |[LKEEAKE] B 2 [ DkEERKE] #  #
(m?) (H) (m?) (M) (m?) (H) (m?) (F)
20mLLF 1,944

21 2,098 4] 5,208 61 8,755 81 12,817
22 2,252 42 5,384 62 8,958 82 13,020
23 2,406 43 5,560 63 92,161 83 13,223
24 2,560 44 5,736 64 9,364 84 13,426
25 2,715 45 5,912 65 9,567 85 13,629
26 2,870 46 6,088 66 9,770 86 13,832
27 3,024 47 6,264 67 9,973 87 14,035
28 3,178 48 6,440 68 10,176 88 14,238
29 3,333 49 6,616 69 10,380 89 14,441
30 3,488 50 6,792 70 10,584 90 14,644
31 3,642 51 6,968 71 10,787 21 14,847
32 3,796 52 7,144 72 10,990 92 15,050
33 3,951 53 7,320 73 11,193 93 15,253
34 4,106 54 7,496 74 11,396 94 15,456
35 4,260 55 7,672 75 11,599 95 15,659
36 4,414 56 7,848 76 11,802 96 15,862
37 4,568 57 8,024 77 12,005 97 16,065
38 4,722 58 8,200 78 12,208 98 16,268
39 4,877 59 8,376 79 12,411 99 16,471
40 5,032 60 8,552 80 12,614 100 16,674

LREEHIT. TR26FIAIBOHERBREICHSIHRE (8%) BRARDHERFHIUENSINLRETT,

TKEFAHMEEEE (1MAAHEY)

£ % FAERE (LKEOERKE) HE s
(EXHE) 1 OMLUTDELESS

HWEKHREN 10 OMUTDES 900M
B KHEBREN 1 0 1 MLULEDIES 1, 800

(BiBHE) 11mhs 20mMET 143M

1 mEBifL 21mmid 30mM%ET 163H

—JEE K 31mpmpd 50mM%ET 188
51mMmsd 100mM%ET 227H

101mMhi 500mM%T 274H

501mMd 1, 000MET 318H

1, 001mAS 2, 000MET 363M

2, 00 1mMhD 410M

BIHIEK 1mizDE 10H

OFEREEXRMRELI-FERKE (20hA5) Z1MATEICHTTHELETS,

OFHLIBEITHEREMELE (8%) ZMEL. 1ARENRBENYIETES,

OCADHRTHIBXIIKLEFLE-LEZDFERAME, FABKN15BULEDFARIEX 1A, 1 5AXREDGEEITFA
ELTERHEZHRLFET,

O1AxDKEZ2HHEULTHALTVWSHRRE., HHERICIYEHTH-OMFEIZHYETS., (FAIICEHARLETY)

[EHfFI] 11A%KS (9-10A%) OERAKE (BREKE) 16 1mMDiGE

®) 6 1 mMm+-2A=30m&KY1 1HAA31TmM 1MA30mM

9A% 31m
(EXHEE) 10mUTF romj HEA¥EL . 900M
(EEHEE) 11mMhd 20mMET rMomj 10mx 1mEff 143M= 1,430M
21mMmhs 30mMET N1 omj 10mx 1mEiffi 163H= 1, 630M
31mMd 50mMET I 1mj 1mx 1mEfl 188H= 188H
AFtE LA 31m (AH=Y) 4,148M
4,148 x HEBF1.08% = 4,479. HERH 4, 479M®
10A% 30m
(EAXHE) 10mUTF romj HAHEL . 900H
(BafE) 11mMhid 20mM=ET rMomj 10mx 1mEfl 1438H= 1,430M
21mhs 30mMET N1 omj 10mx 1mE{f 163H= 1,630M
AEtELEE 3om (A®t=Y) 3,960M
3,960 x EHEFI1.08% = 4,276 = A 4,276M®

11AHERSD(9 - 10A%4) FKEFERAK 8, 755 (D+Q)




